4 3

1. GENERAL NOTES
1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS [X.X]
1.2 FEATURES CRITICAL TO QUALITY ARE INDICATED IN ROUNDED BOX XX
2. DESIGN NOTES
2.#. THE FINISHED ITEM IS A SERIES ASSEMBLY. A -XX FINISH SUFFIX DESIGNATES A PRODUCT PART
NUMBER THAT REPRESENTS SPECIFIC COLOR/FINISH. REFER TO METROCELL DOCUMENT MTM1004 FOR
SPECIFIC COLOR REQUIREMENTS
3. MANUFACTURING/SPECIAL REQUIREMENTS
3.# “ANTI-SEIZE” SHALL BE USED ON ALL STAINLESS TO STAINLESS HARDWARE CONNECTIONS
3.# “NO-OX” SHALL BE USED ON ALL CHASSIS TO GROUND CABLE CONNECTIONS
3.# DO NOT TORQUE DOOR HARDWARE, ONLY SNUG TO SEAT
3.# TORQUE HARDWARE ACCORDING TO SIZE AS NOTED BELOW.
>M6X1.0: TORQUE 40 IN-LB
>1/2-13: TORQUE 12 FT-LB
4. TESTING
5. PACKAGING
5.1 PACKAGING SHALL MEET COMMSCOPE REQUIRMENTS PER DOCUMENT IS-PL-3005
5.2 ITEMS NOTED WILL BE INCLUDED INSIDE OF HARDWARE KIT, ITEM 10

- (@ 13.0[330.4]) ————=

O

(10.5[266.7])

(127[323.1])

719 O

w

ITEMNO.| PART NUMBER

DESCRIPTION QTY.NOTES

1 MTM1124-1520-XX]WLDMNT CLAMP-ON 8.6 IN SERIES

MTM1124-1591-XX|COVER SEMI-WRAP 4 CLAMP-ON 8 SERIES

GWFO05A GALV FLAT WASHER HARDENED 5/8", 1.30D

GB-05125 5/8" X 1-1/4" GALV BOLT KIT

MTC399920-XX |PLATE. STREET LIGHT ARMS COVER

100117-4 FA,SEMS,PH,XRES,M6X25,SST,PASS 5.2

460143456 CLIP NUT, 316 SST ALLOY 5.2

GWF-04 1/2" GALV FLAT WASHER 5.2

Wlo(N[o|jo|(s|wN

GB-0420A 1/2" X 2" GALV BOLT KIT (A325) 5.2

Sl A2ININININ

-
o

MTMOOHK-0018 [KIT, HDW 1/2"X2.0" A325 + FLATS (4/8)

4 3

1

REVISIONS

REV DESCRIPTION ECN APPROVED|
A NEW RELEASED 8000042913
<z
<
S S
z
<z
——
°

COMMSCORPE, INC. OF NORTH CAROLINA

5.2 @ 2020 CommScope, Inc. Confidential

TOLERANCES SAP MATERIAL MASTER
1PLACE X 0.12 3PLACE XXX+ 0.030
2pLAcE XX+ 0.06 ANGLES  + 2° 860655390-8-XX
FINISH MATERIAL
SEE NOTES SEE BOM
N NAME DATE | TITLE
gjv HOA 185EP2020 | CLAMP-ON 4 LUMINAIRE ARM 8.625 IN SERIES
DENSITY osi | 2y
MASS |30.65 Ibs 55 o
VOLUME | 172.45 | 238 RE SCALE | DOCUMENT NO
SURFACE AREA | 1984.61 i | 25 [EcN 008000042913 1:3 860655390-8-XX
HEIGHT [ 13.0 SIZE  [WORKAREA 24 MODEL DRAWING SHEET
LENGTH | 126 C 6 VERSION | STATUS | REVISION [ VERSION | STATUS | REVISION
WIDTH [ 105 00 w A o | w | a 10F 1
2 1

A



